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CTET L1 Hindi L2 English P1

Topic:- CDP_P1_CTET

1) Development gets influenced by :
(i) Student’s personal factors
(i) School climate
(i) Social-familial influences
(1) Only (i)
(2) Only (i) and (ii)
(3) Only (i) and (iii)
(4) (i), (ii) and (iii)

e e watfad grar g ?
(i) FE=mft = saiasra st o
(ii) oAt AR |

(iili) FTETSTE-ATY AT S T9TET 7
(1) %= (i)

(2) = (i) = (i)

(3) = (ii) &7 (iii)

(4) (i), (i) & (iii)

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_117_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Assertion (A):
Parents and teachers should ensure positive childhood experiences for all students.
Reason (R) :
Childhood is a sensitive period of development especially for cognitive and emotional
development.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the carrect explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.



HEFT (A) :
FforamEFt T qewsi 1 gEieET weT =Jign Foadt Fenten
FITT(R) -
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_117_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3) Which statement is correct about the socialization of very young children 7

(1) School is the primary agency of socialization.
(2) Family is the primary agency of socialization.
(3) Peer group is the primary agency of socialization.

(4) Print media is the primary agency of socialization.

TEA BIE T=A1 & ATATS TR 6 HIH H FIA-AT HIF TGl g 2

(1) =TT ATHTS LT 7 I EE Je g |
(2) af¥=TT ATHTSIH Y ITEF T 2 |

(3) FEATST-HHE AT =0T i AT T |
(4) H3% HATE HIHTS 207 T I8+ ea7 g |

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_117_Q3]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID =12]

4) According to Jean Piaget’s theory of cognitive development, at which stage do children begin
to understand that objects do not cease to exist when they are out of sight ?

(1) Sensorimotor

3

4) Formal operational

)

(2) Preoperational
) Concrete operational
)

(
(
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(3) = AT
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_117_Q4]
1 [Option ID = 13]
2 [Option ID = 14]
. 3 [Option ID = 15]
. 4 [Option ID = 16]
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5) A child playing with pebbles discovers that two sets of two pebbles each add up to a total of
four. This experience of the child is best termed as

(1) Conservation
(2

)

) Centration

3) Egocentricism
)

(
(4) Object permanance

FHRET  TAT gU, TF F=AT A G1Aar g = 2 FFET F T W Mo 4 T2
T UF HHE A1 8 | T== 1T BT T T FTHT AT I 2 2

(1) Femm

(2) FHrFTm

(3) ATTH-FATTAT
(4) 77 =ATA

[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_117_Q5]
1 [Option ID = 17]
2 [Option ID = 18]
3 [Option ID = 19]
4 [Option ID = 20]

A WN =

6) Nisha ensures to finish given homework to avoid the shame that she may be subjected to by
her teacher for not doing homework. As per Lawrence Kohlberg'’s theory of moral development,
this represents reasoning at stage.

(1) Pre-conventional
(2) Conventional
(3) Post-conventional

(4) Formal conventional



TR ST TETT T HTAT AT FHAT g ATEH b T AT I 3 HT00
FEATIOHT T AT &0 ST | a5 99 | A Rlgaadl & A1d% @59 5
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(1) TE-T0TwTa

(2) T

(3) THT-THIIET

(4) AT TR
[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_117_Q6]
. 1 [Option ID = 21]

. 2 [Option ID = 22]

1
2
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7) Lev Vygotsky's theory mainly focus on explaining the impact of on

development.

(1) biological maturation, emotional
(2) attribution pattern, moral
(3) cultural tools, cognitive
(4)

4) rewards and punishment, behaviour

o AR &1 Hga qea: D #9929 AT
AT T =TT F4GT 3 |

(1) sifa= afvasaar, JaaEas

(2) &rEroT wieesT, At

(3) ATEHTAT STFHLUN, AATATHT

(4) TZFFTT &IT 30, SAFETHT
[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_117_Q7]
1 [Option ID = 25]
2 [Option ID = 26]

3 [Option ID = 27]
4 [Option ID = 28]

A W N -

8) Following Lev Vygotsky's theory, a teacher should :

(1) provide appropriate scaffoding to students by giving hints and cues.
(2) restrict collaboration and discussions among students.
(3) practice total non-interference of adults in students’ process of learning.

(4) frequently use negative reinforment to condition students’ behaviour.



W ATIATET & gid & AT, T FLATTAHT 1 FIT FHLAT AT ?

(1) Foe &Iz <7 Fa=faat 1 SugFa ITE 934 F21 M50 |

(2) F=nt F #i agaTRET T FF1E 97 Tase T qE0 |
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_117_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) A progressive classroom gives primacy to
(1) teachers’ preferred style of teaching.
(2) completion of syllabus.
(3) exam-centered pedagogies.

(4) students’ opinions and experences.

T WA eie FEAT a7 § 7 B Terar 241 g ?

(1) SreaTiaenT ST SAT 98T & a5 &l

(2) TTEIEH HT LI FHIA Al

(3) TErerT-hiega forsararm==T =it

(4) Tt = A T ATHAT A
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_117_Q9]
. 1 [Option ID = 33]

. 2 [Option ID = 34]

1
2
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Which of the following statement is correct as per Howard Gardner’'s conceptualisation of

intelligence ?
(1
(2
(3
(4

Intelligence quotient is most accurate predictor of one’s success in later life.
Intelligence is not influenced by environmental factors.

Individuals possess different levels of different kind of intelligences.

i e -

Group tests of intelligence are best measures of intelligence levels of students.
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(1) iz wfer BT =rite & wiaer T o g T T9EHT F1 T99 T2 AT
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_117_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) According to contemporary theories, what kind of classroom environment facilitates cognition ?

(1) Print-rich and resourceful

(2) Fearful and threatening

(3) inaccessible and exclusionary
(4) didactic and textbook-centric

AHFTATT (HGIal & ATaTT, FF T FT FHa0 ATeier aA1T Ff GaaT F7dT g 2

(1) T3 T ST HATEA T
(2) ST ST AT T

(3) e S AfgwrTY

(4) SURIATHF AT TTETEATH-H o5

[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_117_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Genderis

(1) shaped by social structures.
(2) totally determined by heredity factors.
(3) predetermined by genetic characterstics.

(4) an innate quality.

=

SRS

(1) =TT H==TE g AT gEr g |

(2) T A7 FgTT Tl gT Haia garg |
(3) AT weAt T -t grar g |
(4) T SreESTE AR 2 |



[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_117_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) In Jean Piaget’s theory, the ability to work with symbols to represent an object that is not
present is called ;

(1) Accomodation

(2) Semiotic function

3) Reversible thinking
)

(
(4) Conservation

st foramsr & frgia §, et g & o a1 g w01 afa § et g oo 2o
T FTH FTAd T ARAAT FT Fgedtdl g ?
(1) TETAIH
(2) FATEA TR FRTAAT
(3) wfeadt |Jr=
(4) Fee
[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_117_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Formative assessment is effective in

(1) inducing continuous threat of failure among students.
(2) comparing performance of students with each other.

(3) understanding students’ progress of learning so that support can be provided accordingly.
(4) labelling, categorisation and referral of students to special school.

THATHS Hedia v+ § & fe form garet gar g ?

(1) FE=f 9= & smrferar &7 f93a 97 57 7 F |
(2) FEEnfa=i % v=ei it TF-ga | AT 07 | |

(3) FE=mtaT 1 AfETH wWIia T F95717 H q10% Irg AT AZHAT T2 T
T HF |

(4) =iy = A, i & =g FHeray 5 o AeE F791 %
o

[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_117_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]




15) Assertion (A) .

In a classroom, a teacher should promote verbalisation of thoughts, discussions and debate
among students.

Reason (R) :

Language development and cognitive development are not related in any sense.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

FFFIT (A) :
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_117_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Which of the following is a typical characteristic of Attention Deficit Hyperactivity Disorder
(ADHD) ?

(1) Being focussed for long duration
(2) Slow activity levels

(3) Impulsivity

(4) High level of task organisation

T+ & | FI9-A7 AT AT ATasearefiaar fEame (ADHD) T i @
g7

(1) @t ety & form & w2

(2) &= FErarefierar ==

(3) AETETTAT

(4) T4 =AFT F I=F &L



[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_117_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Which of the following statement is correct in context of learning disabilities such as Dyslexia,
Dyscalculia, efc ?

(1) Students with learning disabilities are all alike.

(2) Standardised tests are best to evaluate learning progress of students with learning
disabilities.

(3) Teacher-centric pedagogies are most effective to facilitate cognitive development of
students with learning disabilities.

(4) Learning disabilities get influenced by both neurological as well environmental factors.

7+ & T F\-97 FA7 AT AqFTATA T T TSAaFA, U ATed, TATR
FHIT FAGIE ?
(1) ATERTH AT & Sard a7t ==y vs 589 2q 2 |
(2) ATERTH AT | SHAG TH=rAT F ATETH Awaq F 0 AT
TN HAH FgA 2l 2 |
(3) reaTaF-ieaa forarore, sfenmT storaaT | SEra A=ty F g9
T &0 AT T2 o (o0 T4 5 gid 2 |
(4) AfERTe orFaaT, SET AT AT ATAEONT AT T8 & FOEHI T TATFT
grar g |
[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_117_Q17]
. 1 [Option ID = 65]
. 2 [Option ID = 66]

1
2
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) For successful inclusion of students having hearing impairment, which of the following is notan
effective method of teaching ?

(1
(2
(3
(4

Visual-Kinesthetic
Lecture
Activity-based
Multisensory

Co R S S s T G
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(2) =TT

(3) FrT-sraTie

(4) FE-AAE
[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_117_Q18]

1 [Option ID = 69]
2 [Option ID = 70]

. 3 [Option ID = 71]
. 4 [Option ID = 72]

A wWw N -

19) Which of the following should be avoided to cater to the needs of students with giftedness ?

(1) Providing stimulating enrichment activities.
(2) Implementing a standardised curriculum.
(3) Allowing students to pursue independent projects.

(4) Considering flexibility for curriculum acceleration.

gfaareret Fenfdt fit =t F T F99 5 o0 [ § § F39-97 729 T80
HATATHT AT ?
(1) STSTF T AT TEAT T2 F747 |
(2) ARG TTEFAT FT AR FAT |
(3) =TT E=T 1 w=d= ARATSA U FTd AT AFHIS 397 |
(4) ITETFAT-ATT & [0 A AT 7@ |
[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_117_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]
20) In order to meet needs of students having autism in an inclusive classroom which of the

following strategy is likely to be effective ?

(1) Be consistent in approch of teaching.
(2) Keep Variations and make frequent changes in classroom setting.
(3)
4)

4) Teach them in a special section only.

Ask them to express themselves in front of large groups.



e FETEAT FAT H TAAAT T OGAT AT AT A=Al B Fed &
e § 7 =1 g9t e 2

(1) ST IA # Aeeaqear 7T |
(2) FeaT afa F RATST0 37 @aT 2@ F:9d 2T |
(3) T2 TFT FT TS AHG! & HIHA =AFd F2A I Figrl |
(4) 372 fAforsz F=m | &Y vzt |
[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_117_Q20]
1 [Option ID = 77]
2 [Option ID = 78]

3 [Option ID = 79]
4 [Option ID = 80]

A wWw N -

21) According to Social Cognitive views of learning, students learn best by

(1) passively imitating adults
(2) actively engaging with their environment
(3) overt conditioning of behaviour

(4) memorisation of decontextualised information

G
(1) F=t i AT Ther g
(2) FTH FTATEET T ThT TeaveqT arel
(3) AT & ATE] ATHAT BT
(4) AHSTHT ATTHT 0 FEefrhao ZeT
[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_117_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Students tend to quickly forget information which is

(1) related to their lives.
(2) presented with relevant context.
(3) presented in disconnected chunks.

(4) elaborated through use of examples.



=l o9 ST A TR S 99 g A r

(1) 9% SiTa & HafaaT grer g |

(2) ST FE o e o et g |

(3) A== TAT FUST H 9 HT SATAT ¢ |

(4) TITET FT SEATTA Fah ACATI o ol ST g |

[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_117_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Which of the following is an example of Procedural knowledge ?

(1) How do we prepare soil for plantation ?
(2) What is the formula of (a + b)” ?

(3) When did India get independence ?

(4) Which is the next leap year ?

T+ § & F17-97 YTHIATeHT A7 T I8 g ?
(1) dreraraor & form gt 9 Fome it Srdr g 2
) (@a+b) FTERTFATE?
(3) AT =T ATSITET el THAT oY 2
(4) ST AT TT FF ZRIT ?
[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_117_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]

4. 4 [Option ID = 92]

24) In order to facilitate learning, a teacher should :
(1) disconnect content from students’ social context.

(2) discourage use of concept mapping.
(3) encourage high competitive feelings among students.
(4) give oppartunities to students for constructing knowledge.

FTEATH T FATIET F2d 3 T FEATR1 Fl FT FIAT F127 2
(1) FErwerEeg Fr Fenfaet & araiser 529 F Fo Taer Jiied |
(2) HI=IT ATAT==0 F TEA9Te T gArcaTigd FoAT AT |

(3) =Nt § 3= TA41T TIAeTel &1 TeaTied F9aT1 AT |
(4) TE=ITHE=T =T ST o % ATHT T2 FLd FM0271 |

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_117_Q24]
1. 1 [Option ID = 93]



2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Few students in your class are finding it difficult to sclve a given problem. Which of the
following way will you choose to support them?

(1
(2
(3
(4

Add irrelevant information to the given problem.
Instruct them to fixate on conventional use of materials.

Ask them to copy the answer from their friend.

R e =

Suggest to them to reflect on the similar problems which they solved earlier.

JrTehT HeAT | Ty A=l (¥ T were v g w9 § e deam e g |
32 HES A & (o70 ST 5 H & FiA-A7 T A1 2

(1) = T FHET H & qiAT JT-Swwdl STt Sirg 290 |

(2) 32 ATHAT % THATHIE TEAAT & (0 qTET T3 & (a9l 2 |

(3) T2 ST FTEA T FHIGT H I THeA He Al gl |

(4) T2 THIT T8 T AHETI ST Irgid Tg ger ol AT, 97 [=a« F7 51 Fg1 |
[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_117_Q25]

. 1 [Option ID = 97]

. 2 [Option ID = 98]

1

2

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Assertion (A) :

It is important to create a classroom environment where students can freely express their
misconceptions.

Reason (R) :

Discussion on misconceptions is relevant in the process of learning.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.



FfEaT (A) -
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FTTT(R) -

Ffert o7 == T HTAT ATAeTS Tt & oy Sra/Mg=ag ¢ |
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(1) (A) &% (R) T AT § A7 (R), (A) &1 AT =TAT F7AT1 3 |
(2) (A) &= (R) JT1 | & 0 (R), (A) FT FET =TT T F7d71 ¢ |
(3) (A) FEl & AT (R) T ¢ |

(4) (A) 97 (R) THT T2 |

1[Qu?;ti9n I|I; =1%)6]][Question Description = CTET_P1_PART_1_CDP_SET_117_Q26]

2. 2 [Option ID = 102]

3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Students will feel more intrinsically motivated to learn if they experience the emotion of

(1) hopelessness
(2) shame

3) joy

4) frustration

=

FEremeft Hfraw & o gighs =7 F afgs afautE 2 aw T F 9
T HETH T

(1) Frerem

(2) o

(3) el

(4) FTa1

[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_117_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Students should be encouraged to formulate goals.

(1) Mastery-oriented

(2) Performance-oriented
(3) Work-avoidant

(4) Competition-directed



Eentaat & fr g % e Mg 521 & forg Sia e s =it 2

(1) FEra-AfagET

(2) TEIH-F T

(3) F-afEr

(4) wfaeTet-faafar
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_117_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Which of the following influences learning positively ?
(i) Malnutrition
(i) Collaboration among students
(iii) Punishment

(iv) Metacognition

9= 9 & F17 ATATH AT THCeHT BT H TAAT FA 3 2
(i) T
(i) TE=mia=i & agariET
(iii) FUE
(iv) @fEs=
(1) (i), (i)
(2) (ii), (i)
(3) (iii), (iv)
(4) (ii), (iv)
[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_117_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Students play a/an role in the process of knowledge construction.
(1) active
(2) passive
(3) docile
(4) insignificant
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(2) it

(3) et

(4) T

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_117_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET
1) How many 3-digit numbers are there in the Hindu-Arabic Numeration System ?
(1)999
(2)900
(3)998
(4)889

Terg-A7aT Hexi= Tl § fohadl 3-3=h19 Jeard g ?

(1) 999
(2) 900
(3) 998
(4) 899

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) 1f 98989898 is divided by 98, the quotient is

(1)1111
(2)4

(3) 1010101
(4) 101101



72 98989898 T 98 # TarwTioTe 3 SITaT g, a7 AT TFer §

(1) 1111
(2)4

(3) 1010101
(4) 101101

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q32]

1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) Three bells ring every 12 minutes, 20 minutes and 36 minutes, respectively. If all of these bells
ring together at 7:15 am, then at what time will they all ring together again ?
(1) 9:45 am
(2)10:15am
(3)10:30 am
(4) 10:45 am

17 \feat FH9 veaw 12 A2, 20 992 &7 36 fHaz F d@aire a7 9974t 2 |
i =t 92Tt 9T 7:15 9 UF /19 I994970 8, a1 o 6 | U =@ o a1
EE RN

(1) 9:45 am

(2) 10:15 am

(3) 10:30 am

(4) 10:45 am

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q33]

1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) The quotient cannot be determined, when a humber is divided by
(M1
(2)0
(3) The number itself
(4)~-1



AT ST A2l 6T ST |Jod T, S FT Ser i e 7 Farier B s

(1)1

(2)0

(3) = HE=ar

(4) -1
[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]

3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) [f the sum of the digits is a multiple of 3, then the number is divisible by
(12
(2)3
(3)6
4)9

TS H ¥ S A ANTEA 3 TN, ATAG AT & FAreiera e |

(1)2

(2)3

(3)6

(4)9

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) Which of the following two fractions are equivalent ?

1 2
(1)3 and —

(2) 2
3 and

)= ang

(4)

o g W= s

5
EB
4
Ea

nd



Feforta & & #w-i 21 fore e £ 2
(1) o 2
(2) 3 ¥ 3
(3) 3 ¢ 2
(4)3 ¢ g

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q36]
1 [Option ID = 141]
2 [Option ID = 142]
. 3 [Option ID = 143]
. 4 [Option ID = 144]

A wWw N =

7) Which one of the following costs more ?
I. 25 dozens articles each of ¥ 350.
Il. 250 packets each of T 350.
(M1
21
(3) Cannot be calculated
(4) Both | and Il are equal

Feforfes § & e o afgw g 2
. 25 FS( ALV, TeAF J%q 2 350.
Il. 250 T3 Jer+ Tahe T 350.

(M1

() 1l

(3) afT=erT H‘gﬁﬁn‘ﬂTﬁTHﬁT _

(4) | & |1 31T FeET g
[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]

3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) 2730 mL is equal to

(1)27.50L
(2)0.275L
(3)2 L 750 mL
(4)275 L



2750 mL I¥TE¥ g

(1)27.50 L
(2)0.275 L
(3)2 L 750 mL
(4)275 L

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

%) A train starts from Bhopal at 16:335 hours on 28" August, 2021 and reaches Emakulam
Junction on 30" August, 2021 at 07:30 hours. What is the total travel time from Bhopal to

Ernakulam 7

(1) 29 hours 55 minutes
(2) 42 hours 25 minutes
(3) 34 hours 15 minutes
(4) 38 hours 55 minutes

TF TOETET WIS & 28 #9, 2021 F 16:35 5 FAwT UATHAH SFqT 30
FTET, 2021 FT 07:30 I T=AT & | AT F UATLOH il A1 FT Fof THT
T £ 2

(1) 29 == 55 o=

(2) 42 =e 25 9wz

(3) 34 == 15 A=

(4) 38 =z 55 fi==

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

19 A steel wire forms a square whose area is 484 cm’. If the same wire is bent in the form of a
22
circle, then the radius of the circle is (Use m= 7]
1)22cm
2)14cm
3)30cm

(
(
(
(4)28 cm



T T T AT UF A g £, o S 484 cm” 2 | AT T A AT UF
7 3 AT & e 9T, A 5 3 A e g (v = 2o mﬁaﬂ

(1) 22 cm
(2) 14 cm
(3) 30 cm
(4) 28 cm

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q40]

1. 1 [Option ID = 157]

2. 2 [Option ID = 158]

3. 3 [Option ID = 159]

4. 4 [Option ID = 160]

11) Prerna gives half a turn to each of the digits from 0 to 9. Select which of them still looks the

same.

(1)3and5

(2)6and 9

(3)0and 8

(4)4and 7

JTAT T 0 | O T F T 3 Tl ATET THAT | I &1 FT FAT ST TgA 99 gl
fRaErE g

(1)3 &7 5
(2)6 &7 9
(3)0 & 8
(4)4 FT7

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) The number of degrees in five and one-third right-angles is
(1)405
(2) 395
(3)480
(4) 390



ot 97 vE-fAgTe wEEm F it frwmm g

(1) 405
(2) 395
(3) 480

(4) 390

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) The number at “?" in the given number pattern is
1,6, 15, 245, 66, 91

(1) 20
(2)25
(3)28
(4)32

=7 T e e § #1542 F e U ?
1,6, 15, 2 45, 66, 91
(1) 20
(2) 25
(3) 28
(4) 32
[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q43]
2. 2 [option I - 170

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) The cost of a rail ticket to different stations is given in the table below :

Distance from To Station Fare (in 2)
Station A (in km)
57 B 12.50
175 Cc 28.00
366 D 49.50
495 E 62.50

Renuka has to go from A to D along with her two friends. How much does she pay for three
tickets ?

(1)299.00
(2)z 148.50
(3)7 187.50
(4)Z 184.50

fafamT weomt & form Tt feet 1 o = arfor & Rarar g

AT AT T T AE T (2 9)
(km ¥)
o7 B 12.50
175 C 28.00
366 D 4950
495 E 62.50

AT T ATAT 2T A ierdl 5 A1 T A 7 D §F 1971 € | 39 9 §19 feFel &
for et wrfer 30 2t 2
(1) T99.00
(2) T148.50
(3) 2 187.50
(4) 184,50
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) Six children measured their heights and the results were as follows :
109.0 cm, 114.7 cm, 102.8 cm, 99.7 cm, 109.5 cm, 112.2 cm
What is the average height of all these children ?

(1) 104.8 cm
(2) 107.0 cm
(3) 108.0 cm
(4) 108.5 cm

. A=A A AT s At /it T, 5w g e v g
109.0 cm, 114.7 cm, 1029 cm, 99.7 cm, 109.5 cm, 112.2 cm
oo TfY F==t fit ofee o= F=mwE 2

(1) 104.8 cm
(2) 107.0 cm
(3)108.0 cm
(4)108.5 cm

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET
1) "It is more useful to know how to mathematise than to know a lot of mathematics” are the
words of

(1) George Polya
(2) David Wheeler
(3) Henri Poincare’
(4) Srinivasa Ramanujan
“Sgd AT A0 ST AT qg AT AT IR g o aiueene
T s 1 7 e e 2 2
(1) SttsT qren
EES #QI R
(3) T TrEHaT
(4) AT TS
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]



2) A mathematics teacher asks her students — “You have 9 hundreds and you have to take away

9 tens from it. Which number do you get 7" One of the students responded — “| will get zero”.
Which of the following statements is most appropriate with respect to the answer given by the
students ?

(1) The teacher should have written the problem in the form of numerals for students to solve
it.
(2) The answer given by the student is correct.

(3) Teacher should ask the students to explain the process of arriving at the answer and plan
remedial strategy accordingly.

(4) The teacher should solve the problem on blackboard giving the correct algorithm.

T T seATaET 7 wua FErhEA § umr — faras o 9 A% § ST A
SHH | 9 ITEAT e i/THTa=l g | ATTe! fhat Saar gred g 2" o i F
g7 f3ar — “g= o7 (Shn) e | el g Re T sae o aEd |
Feforiaa § & FE-A7 F49 qa4as 795 g 2

(1) FE=ITTE=T 2197 9997 80 81 9% 204 (70 ALATTF H1 T97 F G4Teq% =9 §
TET FLAT AT 4T |
(2) F=meff gy B sET A
(3) srearToen i =TT 7 S97 @S 91 T WiHIT A9 & (o707 FgAT Fien
AT TIAATT STATLICHF T3 1 AT AT AT T |
(4) FEATTF FT TEN TOTAT = 20 T T 7 $ATHIE 7 T FHeAT A1i2 1 |
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]

3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

3) When asked to subtract 135 from 200 (200 — 135); a student calls out loudly 140, 145, 150 and
200 - 150 is 30, so it will be 50 + 15 =65.
So 200-135=65
Which of the following statements is most appropriate about the strategy used by the student ?

(1) The student has used an alternate strategy to solve the guestion which exhibits student’s
concepiual understanding.

(2) It is a vague algorithm which exhibits no conceptual clarity of the student.

(3) The student has used hit and trial method to solve the guestion.

(4) The student is confused and hence using the concept of addition to solve a problem on
subtraction.



sT& 200 H 7 135 (200 — 135) #f Fem™ & forg #gr 747, 99 s Farft S w
FTAT 140, 145, 150 &% 200 — 150 = 50 g, 97 g 50 + 15 = 65 ZAIT | THT
200-135=65% |
Feaforfad F997 § F FI9-91 97 F=20d0 g07 I0geT #i 7% R 5 A "
AT ITIF 2 ?

(1) =il & 997 =7 g7 e o0 Wk Aswieush i 1 ST RT T=har g & &
(ERIRiE i e R e i ke e e a e
(2) TE UF AETE FAA-(ATH T AT FAqTAT 2 B = F uw ww aaarones
FOTEAT ARl 2 |
(3) =t & W g FIA F U T THETRT I A A EHiE T IO
AT
(4) F=reft 5 § 2 sfix zafony A $f s S ST 59 AT 6
HHETHI A FLIETE |
[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]

3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) A mathematics teacher gave the following question in her class
37 + +9=42+9+.
Which of the following concepts can be taught through the above question ?
(@) Equality
(b) Proportionality
(c) Place Value
(d) Associative law of Addition

(e) Patterns
Choose the correct option :

(1)(a) and (c)
(2) (b), (c) and (d)
(3)(b) and (e)
(4) (a), (d) and (e)



IO ST AEATTIRT AT FAT F Aetertad 797 gor Fed % for, =
37+ +9=42+90+
SUAFT e & "renq ¥ Hutetad § 7 & aEareonar #wv R G s awa
g2
(a) =H=FT
(b) FHTIATIAHAT
(c) wATHIT 7IH
(d) TN T FEATT FIH
(e) wA=T (=)
et e F1 =77 Hife

(1) (a) &7 (c)

(2) (b), (c) &= (d)

(3) (b) & (e)

(4) (a), (d) &7 (e)
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) Harjyot realizes that square is both a rhombus and a rectangle. He is at which level of Van
Hiele's geometric thinking ?
(1) Level 0 (Visualisation)
(2) Level 1 (Analysis)
(3) Level 2 (Relationships)
(4) Both level 0 and 1

-

ZTSATT FT ETGT 2 136 &9, UF AH=Eq9s 37 UF AT 21 af ¢ | 98 99 o &
SATHATS =TT & 9 ¥ 92 g ?

(1) 797 0 (F9afT=7)
(2) =7 1 (Foeram)

(3) =¥ 2 (FeAEAT)
(4) ¥ 0 &% 1 T &Y

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]




6) According to the NIPUN Bharat Mission, the broader aim of Foundational numeracy is

(1) Development of mathematical thinking
(2) Reading and writing numbers
(3) Drawing shapes

(4) Doing measurement in daily life

frqor AT e F AT, gIAarat S@dT A9 F qET aET g

(1) wriorert f=ae =1 fawre
(2) Fweet =T TEAT AT forAr

(3) SrpfaT =1 s
(4) 3 STAT F 9109 F77

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q51]
1 [Option ID = 201]
2 [Option ID = 202]
. 3 [Option ID = 203]
4 [Option ID = 204]

A W N -

7) A teacher says “Mathematics, rightly viewed, possesses not only truth but supreme beauty.”
Which of the following aims of teaching mathematics is the teacher referring to ?

(1) Utilitarian aim
(2) Aesthetic aim
3) Epistemological aim
)

(
(4) Practical aim

LU 7 % o T O = ) s O e e s B o £ e e T o e M R
TEqr ¢ |” TeAferiaa | & T 92T % e e $i A f9rs d@a #v 75T g ?

(1) =TT oe

(2) Hi=IToF e

(3) STH-H AT F 75T

(4) FEITTeH= %]
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q52]
1 [Option ID = 205]
2 [Option ID = 206]

. 3 [Option ID = 207]
. 4 [Option ID = 208]

A w N =

8) Which among the following is most appropriate to be included in a primary class mathematics
textbook ?
(1) Fixed time duration within which to complete each topic/chapter.
(2) Assignments and worksheets given at the end of each chapter to be used as class test.
3) Anecdotes, Puzzles and Pictures to present various concepts.
)

(
(4) Various solved examples followed by practice questions.



fAemtertare & & FTF-87 TR e = T TSI ed® § A e (0 5 =6
o w=ifees IugFd g ?

(1) 9= |97 HH91 § T0F [EA9"/975 FT 27 F77 |

(2) o0 913 & oF | AU M0 95T FA AT FHET F ITAN FAT-292 % &7
H AT |

(3) FATSH= sraram=omat =1 weqd w9 F forw e, agierat & =)

(4) T &0 gu TS SETg0 & A7% AWITH-T9 |

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]
9) A primary grade student solves the problem on addition in the following way
4+(6+14)=(4+6)+14
=6+4)+14=10+14=14+10=24
Which of the following property/properties of addition the student has used in solving the
problem ?
(a) Commutative Property
(b) Distributive Property
(c) Associative Property
(d) Inverse of Addition Property
Choose the correct option :

1) (a), (b) and (c)
2) (b) and ( d)
3)Only (a

(
(
(
(4)(a) and (c)



T TETH HET T =TT T 9% g9t w1 et T = H g9 F2ar g

4+ (6+14)=(4+6)+14

=(6+4)+14=10+14=14+10=24

feaforfea & & In7 F BB qoresApmeEt 1 3am et | awer v
T Fd H AT 2

(a) FH{ATHT o1

(b) = TR

(c) ATE=T T

(d) TET-HTAe 7 OTEE

el fa%eT &7 F47 Hior

(1) (a), (b) #I¥ (c)

(2) (b) &< (d)

(3) ¥4 (a)

(4) (a) ¥ (c)
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) Mathematical thinking can be developed through

(1) Playing mathematical games with children
(2) Solving questions based on a given formula
(3) Writing multiplication tables on blackboard

(4) Drawing pictures from the environment

it ST # Fwm % ST T ST AFar |

(1) FFT = AT TS T Feae

(2) R0 T T F AT 9T GLAT HGA FOA
(3) gamTHUZ 97T UgTE forae

(4) wErt=reor & f==er g

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]




11) Given are the two statements one is Assertion (A) and the other is Reason (R).
Assertion (A) :

Many students feel a sense of fear and failure in mathematics.
Reason (R) :

Gender differences are responsible for fear in mathematics.
Choose the correct option :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are incorrect

(3) (A) is correct but (R) is not the correct reason of (A)
(4) (A) is correct and (R) is the correct reason for (A)

= Fa9 Fuan 2 | T AfHFIT (A) € g O AT (R) € |
FTFFT (A)

Fe (A=At IO T 937 3% ATFAAT & ATe 1 ATAT T4 @ |
FITT(R) -

siev f9eant wita § 97 F oo see=rdt 8

el fahed 1 =3+ i

(1) (A) 37 (R) =TT &1 €

(2) (A) 3% (R) =TT AT 7T &

(3) (A) FET € 7 (R), (A) FT /el F100 el &
(4) (A) T & 74T (R), (A) F T 81 #1207

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) A Primary grade student solves a problem on subtraction in the following way,
301

301 -30 =-30 = 331

331
Which of the following is the most appropriate reason for this type of error ?
(1) The student is careless and inattentive in the class.
(2) The student has over generalised the concept of addition of zero to subtraction.
(3) The student does not know addition and hence is unable to do subtraction.

(4) The student has not practiced enough questions.



TF YT FAT F1 FF=mdT =rawe 97 us a9t Mg 9 g9 FI4aT g
301

301 -30=-30=1331
331

= g At qfe F o M=ot 9§ & Fm-a7 Freor aaiiees I § 2

(1) =T 8T | @T97aTE 8 #iY ST qei 2 e e |
(2) =T 7 o7 & AT T FFYTOT FT AT | AT "=y 7 EEr
z |
(3) F=reff 7 F7AT 7EH AT § #T A HAFAT HIA 5 F9qY 2 |
(4) Fr=rmft 7 gariea ot FT e T8 AT g
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) Solving mathematical problems which are open ended develops
(a) Convergent thinking
(b) Creative thinking
(c) Divergent thinking
(d) Procedural fluency
Choose the correct option :

N
2)
3)(a
4) Only (d)

b) and (c)
Only (c)

(
(
(3)(a) and (d

(

IO HHEITO ST 5 T O ATt gt § [EEALGR: ot
(a) @faar Faw

(b) T &A=

(c) FTET AT

(d) FTHATHF T4

Tl faseT T 247 TS

(1) (b) ¥ (c)

(2) ¥ (c)

(3) (a) 9 (d)

(4) 7 (d)
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q58]
1. 1 [Option ID = 229]

2. 2 [Option ID = 230]
3. 3 [Option ID = 231]



4. 4 [Option ID = 232]

14) According to National Curriculum Framework, 2005, school mathematics must take place in a

situation where children learn to ‘Enjoy Mathematics'. This principle is based on the premise
that

(1) children must enjoy solving textbook problems.
(2) children must enjoy solving mathematical puzzles.
(3) mathematics can be both used and enjoyed life-long.

(4) mathematics assessment can be enjoyable.

T UIEEAT F94ET, 2005 F AqATE, Fheil Ao g9 arefaat § ger
I Sel == ‘T | aras oT 419 | 98 g o0 aae-aras 77 drdried
FRED

<t

(1) == T TIEIET =l FHEATAT AT g Feel § A= AT AT |

(2) ==T =T AOATT TIerdT 71 g Feel H A= AAT AR |

(3) IO =T SAT 97 ITART AT AHE 241 (3T 51 Tar 2 |

(4) OV H AT AFEETAF 2 AFAT 2 |
[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q59]
1 [Option ID = 233]

2 [Option ID = 234]
3 [Option ID = 235]
4 [Option ID = 236]

A WN -

15) Pedagogical content knowledge of a mathematics teacher includes
(a) use of activity based methods of teaching
(b) use of various types of tests and assessment strategies
(c) knowing the hames of different bocks on mathematics
(d) ‘subjectspecific knowledge
Choose the correct option :
(1) Only (a)
(2) (b) and (c)
(3) omy ()
(4)(a), (b) and ()



o = forersn & forgmer==i Fug-avg s § g i g

(a) oA 3 form Gramsarat 9% Arania ETEet 1 ST &ean
(b) TATH= oz T THATeA T ArFee AT FT ITANT FLAT
(c)  Torer-Terer i =T T=a=h1 & FqTH TdT g1

(d) Taoa Bfee ST g

el (e 1 =37 Hifw

(1) 73 (a)

(2) (b) 3 (c)

(3) ¥4 (c)

(4) (a), (b) == (d)

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_117_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) Select from the following, the responsibilities which are assigned to a group leader in
mountaineering :
A. Help others in carrying their bags
B. Keep yourself at the front and let the group follow you
C. Find a good place to stop for rest and arrange food for the group
D. Ask those to stay back who cannot climb properly
E. Look after those who are not well

(1)A,B,Cand E
(2)A, CandE

(3)A, C,DandE
(4)A,B,Dand E



eaforfaa § 7 qaarey 7 g e it frar % g 5 e arefr et
T AT

A. FTHT TIEIT 60 GTHIT T390 H AT Fiewdl
B. &#TH YT H HAH AW TgAT 3T F=T TIHAT T AU Fieg FoATAT
C. ﬁ*m%ﬁvmmmﬁﬁﬁﬁ?ﬁwmm
D. ST 3f=a w17 | 7g1 =g qFd gi 9rg 2T & (0 Fgdl
E. ST 91T AT ZT 3T 4T a1
(1)A, B, C#TE
(2 A, CETE
(3)A, C,D#TE
(4)A, B, DHTE
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_117_Q61]
1. 1 [Option ID = 241]

2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) In the textbook of class V a map of Golconda Fort is printed. The scale of the map is printed on
right bottom of the map which is given below :
Scale 1 cm = 110 metre
A student measured on this map, the distance between Fateh Darwaza and the Jamali
Darwaza as 9.8 cm. On the basis of this measurement the actual distance between the two
places must be

(1) 1078 centimetre
(2) 107.8 metre

(3) 1.078 kilometre
(4) 10.78 kilometre

FAT V &l GI5-05qs | TeHivel & Fer &1 7H=T 997 ¢ | 39 9= &
A= STie o o v ey R g s A R g

THTHT 1 FEHET = 110 HiET

FefT g 7 28 AT 9 Hag AT ST SHTA ST & A H gl 9.8
HRETHIET qT9T | 9 |TT & S0 9% T ZAA1 S0 % 5= 0 Areaee® 340 gl
TR

(1) 1078 F=ETHTzT

(2) 107 .8 Hizx

(3) 1.078 feirdfi=

(4) 10.78 Freres




[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_117_Q62]
1 [Option ID = 245]
2 [Option ID = 246]
3 [Option ID = 247]
4 [Option ID = 248]

A W N -

3) Select the correct statement from the following :

(1) Goa and Puducherry both are on the Arabian Sea Coast.

(2) Goa and Puducherry both are on the Coast of Bay of Bengal.

(3) Goa is on the Coast of Bay of Bengal whereas Puducherry is on the Arabian Sea Coast.
(4) Puducherry is on the Coast of Bay of Bengal whereas Goa is on the Arabian Sea Coast.

Aeaforfaa § 7 78t w99 g

(1) T3 30 =1 T 94 AW F 23941 g |

(2) 7T A GIALT I ST A1 GTET 6 deadi ¢ |

(3) T BT ¥ Gt HT A2ad1 g STah EAT AL T HY d2aai ¢ |
(4) IS ST Al FTET FT Feadl g ST AT F7d AW FT q2q41 g |

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_117_Q63]
1 [Option ID = 249]
2 [Option ID = 250]
3 [Option ID = 251]
. 4 [Option ID = 252]

A wWw N =

4) |dentify the common misconception regardi ng ‘'gender issues’ :

(1) It is not related to the sex of the person.
(2) ltis related to women’s issues.
(3) It is a social construct.

(4) Itis dynamic in nature.

“Foiwr HerefT fAwaT 7 HEie Tora ey 5 5= S

()T = FF T a HaET agi g |

(2) g Aigedl & Budi § J=iaT g |

(3) T T HTHTISE =T |

(4) g wfa F wiqefier 2 |
[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_117_Q64]
1 [Option ID = 253]
2 [Option ID = 254]

. 3 [Option ID = 255]
4 [Option ID = 256]

A W N -



5) Amongst the following, which group of states of India have oil fields ?
(1) Assam, Gujarat, Maharashtra, Andhra Pradesh
(2) Uttar Pradesh, Gujarat, Maharashtra, Andhra Pradesh
(3) Arunachal Pradesh, Uttar Pradesh, Gujarat, Assam
(4) Tamil Nadu, Gujarat, Maharashtra, Andhra Pradesh

(Rt T I O A B Il 2 1 e 7 2 B e B K B s
(1) o=w, T, TR, e q=97
(2) T T=4T, [ETA, HTIMCE, AL TS
(3) HAFUTHST T29T, ITL W29, [0, ATH
(4) @IS, [T, HETEIeE, e T34
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_117_Q65]
1 [Option ID = 257]
2 [Option ID = 258]

3 [Option ID = 259]
4 [Option ID = 260]

A WN -

6) Consider the following statements/descriptions regarding the housing patterns :
A. In Leh two floor houses are made with flat roof. Ground floor is for the
animals and storing necessary items.

B. In Himachal Pradesh houses are made on bamboo pillars

C. In the villages of Rajasthan people live in mud houses with roof of thormny
bushes

D. In Srinagar (Jammu and Kashmir) most people live on houseboats.
The correct statements/descriptions is/are

1) Only A
2)Only D
3)BandC

(
(
(
(4)AandC



=77 % A § Retatag FaaEnH o7 @Ee it
A. &g § 91 9fSer a9da gai ® 96 2id 3 | H=et \@fee uw
B. BH™=® 9291 § 97 A9 F TFET 97 910 A1 2 |
C. TISTEATH & AL % T Held ! ATMSAT Tl Gal AT Het = a2 o
wE
D. #ivRTe (F7 31T F9HI) F HieFae @ greq«iel § 2d ¢ |
TE FAF/AUN 22

(1) 3T A
(2) %7 D
(3)B&TC
4)A T C

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_117_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) The first Indian woman to win a medal in weightlifting at the 2000 Summer Olympics is :

(1) Bachendri Pal
(2) Afsana Mansuri
(3) Sunita Williams

(4) Karnam Malleswari

e Arert=a 2000 H A= 3 Fe7 § 2 S Al T99 Gd T qigar
£
(1) FTEw=T TTeT
(2) SR ST
(3) FfTaT Ao
(4) Fr HoTem
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_117_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]



8) Consider the following statements about bronze :

A. Tribal people have been using bronze since thousands of years.

B. The colour of bronze is shining yellow.

C. Bronze is made by melting a mixture of copper and zinc.

D. The elements (metals) used in making bronze are obtained from deep mines.

The correct statements are

(
(
(
(

1) AandB
2)CandD
3)AandD
4)BandC

Hiest (F19T) & fFur § Mt w21 o f#=e fife

A.
B.
C.
D.

FATRATHT ART ZHIET AT Tgel & Fies T SUANT F7d 72 2 |

et 7 337 FHH AT dTet grev g |

sTiest 0 w7 (F1e) 37 [T & T w1 e s s g |
TSl 0 AT § ITANT 3T S AJTer d=4 (37) Tee ! @i § 9o
o & 2 |

el FIT 2
(1)A#TB
(2)C &= D
(3)A&TD
(4)B&#TC
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_117_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Which of the following statement is true with respect to family ?

(
(
(
(

1) A family must consist of only biclogically related persons.
2) Adopted children cannct be called family members.
3) Children living with only one parent cannot be called a family.

4) An ideal family can mean different things to different people.

TATE % #39 § Aeafaigd § F FH-97 F99 97 2 ?

(1) T IIETT | Ao TR e (9 =ih g1 76 g |

(2) = =41 i ITEATE T AT Agl Fgl o1 THaT |

(3) AT T ATAATAT F AT T AT T== T(LATL Al Fig ST HHA |
(4) T aArEel ataTe w Afae = & T e ad rasarg |




[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_117_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Seasonal movement of people in search of new pastures is called :

(1) Displacement
(2) Transhumance
(3) Migration

(4) Nomads

T T HT TATH H AL AT HIEHT AATTHA FgeATal g
(1) FEremr
(2) sg-aT=
(3) &ArETH
(4) ATeTERTefT
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_117_Q70]
1 [Option ID = 277]
2 [Option ID = 278]

3 [Option ID = 279]
4 [Option ID = 280]

A W N -

11) Solve the following riddle :
“My claws are pink, feathers grey
Guter Goon-Gutar Goon | go on all day
In houses | make my home
Just tell how | am known. *
The solution is

(1) Dove
(2) Koel
(3) Pigeon
(4) Barbet



“FA AT T AT
TEe-T], MEv-7, FIAT g
ﬁ?rw?sﬁ'rn?mﬁr
T H ATAT HL TATAT G
FTAT T FgAmar g |”

(1) FrEET
(2) FrreT

(3) LA
(4) FEwT T

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_117_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]
12) Consider the following statements about honey bees and beehives :
A. There are only a few male honeybees in a beehive.
B. A beehive has only one queen bee that lays eggs.
C. Male bees are very important for making hives.
D. Male bees fly around flowers in search of nectar and the female bees
collect nectar from flowers for honey.
The correct statements are

1) A and B only
2)A,BandC
3) C and D only

(
(
(
(4)B,CandD



HYATFGAT &7 T gl & Fur § FuteriEg waat w7 F=e fife

A. T org ¥ B9 ° FA T & A qYHEEgl gl 2 |

B. T o= § Fa7 uF 7T AT 2l £ S AUS 347 3 |

C. @ a1 & o1y 7% HEAFEAT agd dg<aql 2ial g |

D. A% FYA#FEEt T F F0S § Tl & F0 AC A=Al 3 A7 AT
HEF AT TAT 7 985 F [0 77 THA FA7l 2 |

TAH Ael FAT &

(1) ¥ A &7 B

(2)A, B #TC

(3)%a« C &= D

(4)B, C #*D

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_117_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Which of the following is notthe objective of games and sports ?
(1) Winning
(2) Constructive social abilities

(3) Mental alertness

(4) Emotional maturity

fReAforfee & & F19-A1 I-F3 1 77 dgl g ?

(1) sfre=T

(2) FE=ATETE AT T &HaTT
(3) AT AAHAT

(4) ATAATEF TTFEAT

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_117_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID =291]
4. 4 [Option ID = 292]

14) The percentage of freshwater available on the Earth is:
(1)1-2%
(2)5:2%
(3)2:7%
(4)3:2%



ToAT OT IUASH TS A T AT S

(1)12%
(2)52%
(3)2:7%
(4)3-2%
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_117_Q74]
1 [Option ID = 293]
. 2 [Option ID = 294]

3 [Option ID = 295]
. 4 [Option ID = 296]

A wN =

15) Musical instruments ‘Been’'and ‘Tumba’are made from dried :

(1) Gourd

(2) Pumpkin
(3) Jackfruit
(4) Artichoke

I L G = A B e o2 B I e U B B B R =
(1) wTeT

(2) 33

(3) Feg

(4) Wﬁm‘fﬁ

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_117_Q75]
1 [Option ID = 297]

2 [Option ID = 298]

3 [Option ID = 299]
4 [Option ID = 300]

A W N -

Topic:- EVS_Q76-90_P1_CTET

1) Assessment as learning provides opportunities for
A. Self-reflection
B. Peer assessment
C. Summative assesment
D. Constructive feedback

(1)Aand D

(2)A,BandD
(3)B,CandD
(4)A,BandC



HEd & = T AR F {70 =TT =7 HeAr g
A. gree-gfafEe

B. #EFHHT ATHAT

C. IAWTH ATheTd

D. ¥FATHF Uid ﬂlﬁ

(1VA#TD

(2)A, B @ D

(3)B, C @D

(4)A, B 3T C

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_117_Q76]
1 [Option ID = 301]

2 [Option ID = 302]

3 [Option ID = 303]
4 [Option ID = 304]

N wnN -

2) For class V students, the curriculum of EVS should include contexts related to
(1) self
(2) home
(3) school
(4) neighbourhood and the community at large

FATV & GHAT & (00, T AL0H. F TI=41 9 Saiaq 619 qiHe g 9rgy

(==
(2)a%

(3) &=
(4) TETE AT AL AW T THIA

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_117_Q77]
1 [Option ID = 305]
2 [Option ID = 306]
3 [Option ID = 307]
. 4 [Option ID = 308]

A W N =

3) An assessment tool which collects not just the best but all kinds of a child’s work or activities
done over a period of time is
(1) Portfolio
(2) Anecdotal record
3) Rubrics
)

(
(4) Cumulative record



TH ATHAT SUF0 | F FAA AT Ffoh T== % TAT THC % FHAT AT T97 Hif
FATE | ¥ TS TATATEAT T T F2A1 2, AT &

(1) e

(2) TS RTE

(3) =@+

(4) T=t frwie
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_117_Q78]
1 [Option ID = 309]
2 [Option ID = 310]

. 3 [Option ID = 311]
. 4 [Option ID = 312]

A wWw N -

4) EVS is visualized as an integrated subject because

(1) it draws insights from the sciences, social sciences, and environmental education.
(2)it involves students, teachers and parents in the study of EVS.
(3) it integrates community in the learning of EVS.

(4) it integrates activities, experiments and discussions into the learning of EVS.

¢ ATUH. T UF T (A9 & T § 39T 91497 g FA0n

(1) =g f&se, arte fAse o gt forT & Sasfe ama Far 2 |
(2) =% T4 0w, F weraT § g, Orest die afrarast w5 orfier B
gl

(3) TE THETT A T AL.UA. Hi@d | THEd F2ar g |

(4) 7Tg TIATATER, SIS F=0A F7 € A7 09, ¥ a7 F vhrga F7ar g |
[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_117_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) Which of the following should become the major medium in the process of learning EVS ?

(1) Teachers

(2) Students

(3) Environment
(4) Parents



TATTA. HWaa # afwar § Fefoad § & fe-ar 999 70 JTerd a9qt
FTieT ?

(1) forer=

(2) =

(3) T

(4) =raT-foa

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_117_Q80]

1 [Option ID = 317]

2 [Option ID = 318]

3 [Option ID = 319]
4 [Option ID = 320]

A wWw N =

6) The most appropriate rationale for introducing Environmental Studies (EVS) at the primary
level is to

(1) appreciate the importance of the environment in a holistic manner not only for human
survival but all life forms on Earth.

(2) appreciate the importance of the environment.
(3) study the environment to solve various problems related to pollution.

(4) engage the child in exploratory activities related to the environment.

TTATHF ¥07 97 @0 FE4a9 (2.41.08.) 955 T 6 (010 Ja U a4 g

(1) T Faa wWa dieqed Aiod THAT 97 T0 SEq =90 qgd &30 F 75
T THY =T T THHAA H [0 Tl 2 |
(2) TEATETOT % HE=q il ALEAT & |
(3) FATH=T Tgoor F9EATE T g F 7 (o0 TAET AT FEAIT T
(4) Tt § FEfe Frergo afafafeat § a== & orfae 59|
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_117_Q81]
1 [Option ID = 321]
2 [Option ID = 322]

3 [Option ID = 323]
4 [Option ID = 324]

A W N -

7) After teaching the theme ‘plants’, Meena conducted a field visit of students to the park. This
would support the students to

(1) memorize the theme.

(2) recognise the plants in the park.

3) correlate classroom learning to real-life situations.
)

(
(4) have fun in the park.



R ies e il e o T e O B T e e T T e o e 1 e e D O T
| Zoer Tt =
(1) 7 I7% T H 733 FHerl |
(2) 9T | 9TET T TgAEA H q37 (5o |
(3) FT = ATANTH =T ATEATAE S (47 i T AT F Tg-A95 Fed | T35 (Heri
|
(4) o & et Fe 7 T e
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_117_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) While doing a map reading activity, Jayanti asked her friend, “Why is our village divided from
neighbouring town by lines on the map ? When | go to sell vegetables to the town with my
father, | do not see any such lines.” What is Jayanti doing ?

A. Relating a real-life experience with the classroom activities.
B. Applying higher order thinking to classroom activity.
C. Expressing a natural curiosity about her environment.

D. Reflecting upon an observation and applying logic.

(1)Aand B
(2)Band C
(3)CandD
(4)Band D

A=A U39 Aiafafe & W, S 99 e T Fgdt g, “q9F90 97 91 T
TSI % 91T O 1T G0 (Aarierg 41 g ? 59 § fOqreit & ary atssat a=7 a8
A. FATEITEAE STAT ATHA T HEATHE T(ATard 7 e o F7AT |

B. FTHA TATATaT8 UT T=9 T = T A0 |

C. &= gieaer & wia F=raras Semar #ir afasi=r |

D. sFora 77 =99 F%, 7% 57 99097 F9A97 |

(1)A#TB

(@)Bd™C

(3)C &= D

(4)B ST D

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_117_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]



4. 4 [Option ID = 332]

9) Durga tells Rani, “On Purnima (full moon night), Moon is round like chapati made by Ma." Kahir
says, “No, it is like the puri fried in oil.” Ranveer says, “No. You both are wrong, it is a football
kicked by me in the sky.” The explanation given by children indicates the development of which

of the following objective :
(1) Cognitive
(2) Affective

3)
)

(3) Psychomotor
(4) Emotional

T, T T At g, “afimT uv =tw, |/t A g9 g2 TE ST e g g )
FT F2AT £, A, A2 A F Tt T2 T 2T £ 1 0T A 2, Al W
AT AT 2T, T AT 8 AT T FZATA IS 2 |7 TF FT=a1 510 &6 % =TT
eforiaa 89 35 3297 F B F1 9= F9al g 2

(1) ST
(2) ATEATHF
(3) FHTET
(4) HARTTeHF

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_117_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) Which of the following term best defines the nature of EVS ?

(1) Permanent
(2) Unidirectional
(3) Objective

(4) Experiential

UL A Y WhG A AT § F wE-Ar 9% "9y 30 ' F

(1) =amedt
(2) m-fzom AT

(3) TS
(4) ST

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_117_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]



11) Jaya was very hungry today, she finished eating her tiffin and was satisfied. Her teacher
brought packets of sweets for distribution since today was the Foundation day of school. As
sooh as Jaya saw sweets, her mouth watered. Which of the following term is the correct
description of this process ?

(1) Conditioned response

(2) Unconditioned response

)
)
(3)
(4)

Conditioned stimulus

4) Unconditioned stimulus

ST T AT qgd TF @7 4T | T FqoAv Foih a@eq B &lie g9 92 97 77
| 37 e s et & Tae Jied & form oo O =it a1 5= w7 ST
fZaw o7 | 99 & s A Fer 6=, 39 qg § O o @ | SeteiEd § '
FIA-AT 9% T9 TOHAT 1 2T F0F F7dT g ?

OESEIERIELER]
(2) FETET SfEf
(3) srgfor TR

(4) T ST

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_117_Q86]

A W N -

1 [Option ID = 341]
2 [Option ID = 342]
3 [Option ID = 343]
4 [Option ID = 344]

12) In the chapter, “The Plant Fairy” of EVS Class lll, in didi's play, children had to touch the plant
on the basis of given characteristics.

Which of the following objective is most suitable for organising this game ?

A
B.

C.

D.

e

Identification of child capable of identifying most correct plants.

To aquaint students with the characteristics of plants around them through
play.

To develop the feeling of joy and group cohesiveness through games among
children.

To develop an interest towards |learning through the feeling of competition
among students.

TAandB
2)BandC
3)CandD
4)D and A



T A Y AT I F U1 Curet v oS § = = /A=Al o oy iy

TqTe T2 FASTTATS F ATETE TT GhT TATAT 97 |

fReaferfaa & & F19-3 3297 27 T 0 AT F97 g TAGF ST & 2

A. TEH ATEF qTaT T Tl T2 FI AT T4 Hf TgA1 |

B. o=a1 FT Tq-9e H Y gieaer § Iqrea ovgi 7 FHoraana &
AT FATAT |

C. ==a1 § Tl TN AHS TA ATHISHAT h0 AT T =T FHewT |

D. ==a1 & gfaeoat i Gra=7 2777 @ & gy == e w7 |

()AFTB

(2)B#wC

(3) C &= D

(4) D 3T A
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_117_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Choose the correct statements :
A. NCF 2005 prescribes teaching of EVS from class | to IIl.

B. For Class | and I, no textbook is presented in order to provide contextual
learning environment to students.

C. Forclasses | and Il, EVS is taught through Science and Social Science.
D. EVS is a subject taught to classes IV and V only.

1)AandB
2) Only A
3)Only B
4)C andD

e e, e



TRl HAT / FAFT I A

A. T #t.0F. 2005 F4T | T 1l % . 0w, F foreror v Fata
FEAT 2 |

B. Far | 3= || % forg =g wisaraeas Raiia =g fr e g S
Fr=ntat i 9= st s FararaF |

C. F47 | &7 Il #, T4 7., fas= ug "o J19 % ZET 18T
STAT |

D. AT .Um. ag e § 51 FA IV 3T V FATSH FT T84T TET L |

(1)A & B
(2) FT A
(3) %= B
(4)C #TD

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_117_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) The concept of mapping begins through a basic two-dimensional representation of classroom
in

(1) Class il
(2) Class IV
(3)Class V

(4)Class | and ||

FEATHRA H qor R Fe0or 27 S5 7 qrei== AT AT
|

(1) F&T i
(2) F&T IV
(3) F&ATV
(4) FeT | &
[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_117_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



15) 'Plants’ & 'Animals’ have consciously been included under the theme of ‘Family and Friends’ to
A.  highlight how humans share a close relationship with them.

provide a holistic and integrated scientific and social perspective to them.

locate them in a social and cultural context.

oOow

enable learners to make distinction between plants and animals.

1)A, BandC
2)A,BandD
3)B,CandD
4) Only A

e e

fAu ‘afvaw ug e | ovgl ud SAr w1 SAd-G37d AiEEtEa AT TEbT g,
IEEENED
A. = U7 B399 T« =T o 7% & 99 F7 39F 91 FH497 e

GEL I

B. T UH T U THTHIOT A6 AT THISTF TETET T2
[ERIRC IR

C. T ATHINE T Aiepia® gad § Faread FHar s a+ |

D. fEenfe=i & qvel o stral § A9 w2 &t et &1 o7 94 |

(1)A, B3 C
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1) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

Study the following statements given below carefully, marked as Assertion (A) and Reason (R).
Choose the most suitable option from the alternatives that follow.

Assertion (A): Minor geomagnetic storm will be triggered.

Reason (R): High-speed solar radiation hit Earth’'s magnetic field.

(1) Both (A) and (R) are true and (R) is the correct reason for (A).

(2) Both (A) and (R) are true but (R} is not the correct reason for (A).

(3) (A) is true but (R) is false.

(

4) (A) is false but (R) is true.
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2) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

Read the following statements carefully and choose the correct option that classifies them as
True (T) and False (F)’' appropriately.

1. Coronal holes are present in the sun's outer atmosphere.

2

Sun's plasma is cooler near coronal holes.

3

Geometric storms were predicted by the Meteorological departments.

4.

Geomagnetic storms can create auroras.

(R T, F
(2) T, T.F, F
B)VF,T.FT
4 T,FFT
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3) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

According to the passage, is a science museum in San Francisco.
(1) SWPC

(2) Carrington

(3) NASA

(4) Exploratorium
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4) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

Planets with can absorb the solar rubble.

(1) robust magnetic field
(2) feeble magnetic field
(3) neutral magnetic field

(4) durable magnetic field
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5) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

Why is the 1859 solar storm considered to be the worst in contemporary history?
(a) It triggered blackouts.

(b) It released the same energy as 10 billion 1- megaton atomic bombs.

(c) It caused atomic explosion.

(d) It produced very bright auroras.

(e) it produced a billion-ton plume of gas.

(1) (a), (b), (c) are correct
(2) (a), (b), (d) are correct
(3) (c), (d), (e) are correct
(4)

4) (b), (c), (e) are correct
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6) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

What does ‘fried telegraph systems all over the world’ mean?

(1) Telegraph systems worked even better.
(2) Telegraph systems caught fire.
(3) Storm interfered with telecommunications.

(4) Telegraph systems malfunctioned.
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7) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

Which part of speech does the underlined word belong to in the following sentence?
“This enables solar material to surge out in a torrent.”

(1) Demonstrative pronoun

(2) Possessive pronoun

(3) Reflexive pronoun

(4) Relative pronoun
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8) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. High-speed solar winds from a “hole” in the sun’s atmosphere are set to hit Earth's magnetic
field, triggering a minor G-1 geomagnetic storm.

2. Forecasters at the National Oceanic and Atmospheric Administration’s Space Weather
Prediction Centre (SWPC) made the prediction after observing that “gaseous material is
flowing from a southern hole in the sun’s atmosphere.”

3. Coronal holes are areas in the sun’s upper atmosphere where our star’s electrified gas (or
plasma) is cooler and less dense. Such holes are also where the sun's magnetic field lines,
instead of looping back in on themselves, beam ocutward intec space. This enables solar
material to surge out in a torrent that travels at speeds up to 1-8 million miles per hour (2:9
million km/hr), according to the Exploratorium, a science museum in San Francisco.

4. On planets with strong magnetic fields, like our own, this barrage of solar debris is absorbed,
triggering geomagnetic storms. During these storms, Earth's magnetic field gets compressed
slightly by the waves of highly energetic particles. These particles trickle down magnetic field
lines near the poles and agitate molecules in the atmosphere, releasing energy in the form of
light to create colourful auroras.

5. Scientists think the largest solar storm ever witnessed during contemporary history was the
1859 Carrington Event, which released roughly the same energy as 10 billion 1-megaton
atomic bombs. After slamming into Earth, the powerful stream of solar particles fried telegraph
systems all over the world and caused auroras brighter than the light of the full moon to appear
as far south as the Caribbean. If a similar event were to happen today, scientists warn, it would
cause trillions of dollars in damage and trigger widespread blackouts, much like the 1989 solar
storm that released a billion-ton plume of gas and caused a blackout across the entire
Canadian province of Quebec, NASA reported.

Which part of the following sentence contains an error?

These particles trickle down magnetic-field lines near the poles
(a) (b)

and agitates molecules in the atmosphere.
(c) (d)
(1) (a)
(2) (b)
(3) (c)
(4) (d)
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1) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

What needs to be keenly evaluated?
(1) Extent of afforestation
(2) Quality of life on Earth

(3) Efforts towards wildlife preservation

(4) Human health and environmental well-being
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2) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

80% depletion in wildlife was caused in the last

(1) two decades
(2) four decades
(3) half-century

(4) one score years
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3) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

Which of the following statements is nof true in the light of the given passage ?

(1) A tree is a complete ecosystem.
(2) Trees create carbon sinks.
(3) The pandemic has hindered development.

(4) Devastation of animal habitats is the only reason for occurrence of the current pandemic.

[Question ID = 251][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q131]

A w N -

1 [Option ID = 1001]
2 [Option ID = 1002]
3 [Option ID = 1003]
4 [Option ID = 1004]



4) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

What is critical to our survival?
(1) Environmental conservation
(2) Wildlife preservation

(3) Afforestation

(4) Climate stabilization

[Question ID = 252][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q132]
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1 [Option ID = 1005]
2 [Option ID = 1006]
3 [Option ID = 1007]
4 [Option ID = 1008]



5) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

Find the accurate replacement of the underlined word in the following sentence. (Para 3)
“The veneration of nature in all its forms,......"

(1) Love

(2) Reverence
(3) Variety

(4) Manifestation

[Question ID = 253][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q133]
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6) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

Which of the following werds is similar in meaning to the word ‘mitigation’ in para 6 of the
passage?

(1) Intensification

(2) Easing

(3) Remission

(4) Alleviation

[Question ID = 254][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q134]
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7) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from given ones.

1. We must keenly evaluate progress made towards wildlife preservation. After all, we share
the planet with a truly staggering variety of fauna, which is directly responsible for our survival.
Human intervention has led to unprecedented wildlife depletion. Just over the past 40 years,
we have seen an astonishing 60% decline in the size of populations of mammals, birds, fish,
reptiles, and amphibians.

2. Afforestation and habitat preservation provide answers. Environmental conservation is
critical to our survival, and tree plantation is a remarkably effective tool to achieve this as it has
multi-pronged benefits including soil preservation, climate stabilization, improved air quality,
and quality of life, among others.

3. The veneration of nature in all its forms, including trees, is deeply rooted in Indian ethos.
Trees are a vital life-giving force. A tree is a complete ecosystem, fulfilling the needs of man
and animal alike. Trees absorb carbon from the atmosphere creating carbon sinks. India’s
target is to create carbon sinks that can hold up to 3 billion tons of carbon dioxide by 2030.

4. All these efforts stem from the realization that human health is closely linked to animal health
and environmental well-being. The current pandemic is, at least in part, the result of
devastation of animal habitats.

5. The pandemic has hindered progress across all development indicators. Implementing the
One Health approach shall help in the early detection, prevention, and control of public health
emergencies and in the mitigation of endemic zoonotic infections.

6. In sum, protecting and expanding animal habitats is the most effective way to improve
wildlife population and maintain ecological balance. It is a return to our value system of
worshipping nature and will help India achieve at least nine of the 17 Sustainable Development
Goals.

Which of the following words in para 1 of the passage means the same as ‘astounding’?

(1) Unprecedented
(2) Depletion
(3) Staggering

(4) Intervention

[Question ID = 255][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q135]
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1 [Option ID = 1017]
2 [Option ID = 1018]
3 [Option ID = 1019]
4 [Option ID = 1020]

Topic:- ENG_Q136-150_L2_P1_CTET

1) Which of the following is noftrue of language?

1) All human languages are natural languages.

(
(2) A language should have a script to be a language.
(3) Language is primarily spoken.

(

4) All languages have a grammar and a system.

[Question ID = 256][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q136]

1.
2.

1 [Option ID = 1021]
2 [Option ID = 1022]



3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

2) What is the duration of ‘Foundational Years’ of schooling as recommended by National
Education Policy, 20207
(1) First five years up to class Il
(2) First three years up to class |
(3) First five years from class | to V
(4) First two years of learning, pre-school years
[Question ID = 257][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q137]
1 [Option ID = 1025]
. 2 [Option ID = 1026]

3 [Option ID = 1027]
4 [Option ID = 1028]
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3) Minority language-speaking learners are admitted to a school where the language of the State
is the medium of instruction. What is this type of schooling called?
(1) Submersion education
(2) Bilingual education
(3) Multilingual education
(4) English medium education

[Question ID = 258][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q138]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]

4) Shruti, a teacher of class-V forms groups and asks learners to work on web charts on various
topics relating to their hobbies. What is this vocabulary teaching-learning strategy known as?
(1) Topic-based approach to vocabulary learning
(2) Constructivist approach to vocabulary learning
(3) Thematic approach to vocabulary learning
(4) Word web for vocabulary learning

[Question ID = 259][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q139]

1. 1 [Option ID = 1033]

2. 2 [Option ID = 1034]

3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]

5) Aamir, teacher of language in class-IV forms groups of five and asks his learners to work on
the topic, My experiences with my pet. He asks them to brainstorm, make an outline, write the
first draft, edit and then write the final paragraph. What is this approach to writing?

1) Process approach to writing

3) Group work

(2) Product approach to writing
(4) Experiential learning

[Question ID = 260][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q140]

1. 1 [Option ID = 1037]

2. 2 [Option ID = 1038]



3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]

6) Some |learners of class-Ill while reading short stories and other narratives do not know some
word and phrases but get the overall meaning based on the words which appeared before in
the text and understand the text. What do they get to understand the text?

1) Syntactic clues
2) Vocabulary clues

(
(
(3) Semantic clues
(4) Rote clues

[Question ID = 261][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q141]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]
3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]

7) Aastha, a teacher of class-Il tells stories in different ways. In one of her storytelling classes,
she tells the first line of the story and asks her learners to repeat after her first with closed eyes
and then recall the same silently in their mind. She continues in the same manner. What is this
technique of storytelling known as?

(1) Echo technique

(2) Repeat after me technique
(3) Closed eye technique

(4) Story memorization technique

[Question ID = 262][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q142]

1 [Option ID = 1045]

2 [Option ID = 1046]

3 [Option ID = 1047]
4 [Option ID = 1048]

A W N -

8) Learners are asked to listen to a set of five sentences from their Environmental Studies
textbook as the teacher reads out the sentences twice. Then the learners are asked to discuss

in their groups to recall/recreate the sentence, not necessarily the exact sentence, but nearer
to the sentences read out. What is this task known as?
(1) Dictation
(2) Paragraph dictation
(3) Recall technique
(4) Listening dictation
[Question ID = 263][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q143]
. 1 [Option ID = 1049]
. 2 [Option ID = 1050]

1
2
3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]



9) Which of the following is the Government of India's flagship programme to promote Indian
languages and culture in schools?
(1) Ek Bharat Shrestha Bharat
(2) Azadi ka Amrit Mahotsav
(3) Foundational Literacy and Numeracy
(4) Samagra Shiksha Abhiyan

[Question ID = 264][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q144]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

10) Which of the following is not an appropriate way to grammar teaching-learning during the
Foundational and Primary stages of schooling?
(1) Introducing the rules of the grammatical item first
(2) Introducing nouns as naming words
(3) Introducing adjectives as describing words
(4) Introducing the grammatical item in context first and rules later
[Question ID = 265][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q145]
. 1 [Option ID = 1057]
. 2 [Option ID = 1058]

1
2
3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]

11) Which of the following is nof true of using rhymes and songs during the formative years of
language learning?
(1) Rhymes and songs for learning grammar
(2) Rhymes and songs for enjoyment and pleasure
(3) Rhymes and songs as language input
(4) Rhymes and songs for exercising the imagination
[Question ID = 266][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q146]
. 1 [Option ID = 1061]
. 2 [Option ID = 1062]

1
2
3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]

12) A teacher gives the following question after they have read a story.

“Imagine you are the daughter in the story. Write your diary entry after the wedding event in
your home that day.”

Which typology of question would this come under?

(1) Short answer guestion

(2) Extrapolative question

(3) Long answer question

(4) Argumentative question
[Question ID = 267][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q147]
. 1 [Option ID = 1065]
. 2 [Option ID = 1066]

1
2
3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]



13) A teacher collects the performances of learners over a period of time, and records, to use them
for overall assessment of learners for the term. What is this assessment known as?
(1) Continuous assessment
(2) Portfolio assessment
(3) Summative assessment
(4) Informal assessment
[Question ID = 268][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q148]
1 [Option ID = 1069]
2 [Option ID = 1070]

3 [Option ID = 1071]
4 [Option ID = 1072]

A w N =

14) Which of the following is true of language development in learners?

(1) Reading develops first followed by writing.
(2) Reading and writing develop concurrently.
(3) School should not introduce writing along with reading.
(4) Writing develops first followed by reading.

[Question ID = 269][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q149]
1 [Option ID = 1073]
2 [Option ID = 1074]
3 [Option ID = 1075]
4 [Option ID = 1076]

AN wnN -

15) Remedial teaching is for

(1) learners who need support to learn certain aspects of subjects.

(2) learners and teachers to reflect what they need to improve in their learning and teaching
respectively.

(3) learners only to improve the topics in which they lack understanding and score less marks.

(4) the school and the school system to produce cent percent results to compete with other
school systems.

[Question ID = 270][Question Description = CTET_P1_PART_5_L2_SET_117_ENGLISH_Q150]
1 [Option ID = 1077]
2 [Option ID = 1078]
3 [Option ID = 1079]
4 [Option ID = 1080]
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